®

)]

Iie

%

)

"

n

34

WX ZAE

= —
1-way M 2-way BAREE /5/\EUE (KB FE 71 2) 0.1A 30V DC / 50uA 3V DC
R (1H/FaE) 1Q max. / 2Q max.
™ e 035N max.
“ \3 ThE 50,000 cycles
BIEFD
i 50,000 cycles (0.1A 30V DC)
2%
" | mrarmm | i o evem | BAMTBRER( pos) e —
FEEREY | BemEr | BRMEEPRR BEAm I IR BERE B& | B0 FRRS &S
SPPB110300 1
SPPB120200 2
Push 2,000 | 10,000
SPPB310400 7
SPPB320100 8
Horizontal For Lead
SPPB1A0100 3
Actuator A
SPPB1A0101 4
1,000 5,000
SPPB2A0100 5
Actuator C Bulk
SPPB2A0101 6
Vertical 4,000 | 20,000 SPPB512300 9
1
Push SPPB610400 13
Horizontal 2,000 10,000
For PC board SPPB620300 14
Vertical (Dip) SPPB5A0100 10
Actuator A 1,000 5,000 SPPB6A0100 15
Horizontal SPPB6A0400 16
1,500 6,000 SPPB530701 1
Vertical 600 2,400 SPPB530601 12
Push FOEFI:(%bO?rd Taping
eriow. SPPB630101 17
Horizontal 1,300 5,200
SPPB640201 18
| 2SS
ﬁrl—jﬁ'—h Unitmm
ome BEH (pcs.) REEE | BOEERN BERY
1% 1% /B4 | 1#/408% | (mm) (mm)
SPPB530701 1,500 3,000 6,000 ‘
SPPB530601 600 1,200 2,400 24 406%x406x%160 I
SPPB630101 ‘
SPPB640201 1,300 2,600 5,200 ‘ ‘ -
[LE3
o e BEM (pcs)  [HOBEERY
an»ﬁ"i F ( )
1%/ 84 |15/ H08% mm
SPPB512300 4,000 20,000
SPPB1A0100, SPPB1A0101, SPPB2A0100,
SPPB2A0101, SPPB5A0100, SPPB6A0100, 1,000 5,000 400%x270x290
SPPB6A0400
SPPB310400, SPPB320100, SPPB610400,
SPPB620300, SPPB110300, SPPB120200 2000 10.000

ALPS

o

ISR B P73




SPPB./ ERZ

.9]\31:2 Unit:mm

o — - Rl B R KRR B
’ (BEAFEE)
Push &
ON#NALLE T
6.15 1.5 R
afTifE ﬁf*{ﬁ'”@
2 hole 35 / 6.15 o
° ;i 45 0 © =
> il -
1 § = / ~ ‘ 0 B
e H T 0 A= Q 8 | o Jr\ |
o2 \C} L & 7 f{% < © s 0
Ny — 1N r‘: T @ ° —h i &
T o0 :; I e
JZ]—LW 3 0.1 - M2X0.4
Terminal No. (D 2.251. oihole = 1.3 hole ¥
765 Terminal No.(2 il
Push &
ON I i
615 _1.5
2ATIEME
BRAEERALE
02 hole 35
M2X0.4 g
© [t}
2 _,_@% ° 177 B / E
2 ][ 4 0 ~ L8N wa +
afe 1 > -9 e -
N s — I #(L e} % T =
o TR %F% L ets |
1. 2
2.251.5\ ot hole | ~Jlj0-1
Terminal No. ()| ~ 1,65 21.3 hole
i )
765 Terminal No.(2) 1.
Actuator A ONIEE
2TIEME
BAEEME 4
6 . 3.75 it
45 | 455 > 45 | 455_
= \7
02 hole
i s A = : J{%
7o) H ‘ d o T - )
@ I : %ﬁ pa B 31 §} i
t o &
|
L o1 hole M2X0.4
22515 01 | @1.3 hole
Terminal No. (D \Terminal No.@
Actuator A
ON#ISAL &
2TEEME
912 3.75 e
=
11'4 7.65
22 hole .
4 o~
o 5 § *A =]
=1 — B e ©
: 23 fantia
{{ f Pon) %
225015\ \@1 hole P /
|01 o1.3hole/  M2X0.4
Terminal No.(D Terminal No.2

ROl AR %




1]
f
=

S S e

36

SPPB &#HE

WINEE

Unit:mm
N ENRI FE BE HR 2258 7L R~ &
No. iz} AR
il i (BABPIE)
Actuator C
ON M3 L E
SORER BRAERALE
4.5 5.8
P
5 02 holes .
o
0 2 }
J o
« (-
M2X0.4 L
21.8 hole
Terminal No. @ \Terminal No.(®
Actuator C
ON#AALE
2TERME
BRAERRALE
9.15 2.65
7.65 1 .6‘5 2.65 7.65
S~
SN L
22 hole A
i SSniE e - .
|6 o
e 1D o LB
T sls v:t = 5 N
(d ]
21.3 hole M2X0.4
22515
Terminal No. (1) Terminal No. 2)
Push
LTEUE
165 ., 15
DAE
as S RS
| 13 / 165
2 = "4‘ ° // ﬂﬂ;
13
! — 2 ! A= w| -
8- B g4 Ty,
- s 0|
) o o . SR
joar- Sl . ;
ﬂtﬁ‘ S i 1.3 hol D
Terminal No. (1) 22515 o1 hole 0.1 1.3 hole
Ao ' ' Terminal No. @ 165
0.5, 8 0.5 ~ |
Push
2fTEME
1.65 , 15
ERASL
‘ ONVMGHIE BRAEERALE
85 1.65
©
1 o
: i /
° gl 233 ‘ < / Q3 | @ g
E I 8 E L] O= 9
4 k\, K P 8
mnj%\ 2" “’I ot3hoe | —"§
Terminal No. (1D ' S
225/18 Terminal No. @ | o1
_o1hole 4~ 8 05

ALPS




SPPB./ ERZ

.9]\31:2 Unit:mm

o — P— AR B REE AR R T8
(BAAEE)
Push e
A _
1 EXE=ivacy &
2.45
08 A‘ 3 ON#IIRAIE
©1.25 hole
[ — 4-01.1 holes = o %
H‘H BRAERRALE
= o
9 T 0 / 3
L ! J o L G| ] . F4 01
< & 00 o5
PC board ‘&; I
=+l X\ mounting face 0.95 23
_ B H{IRES I i
Terminal No. (D 012 |243]
0.95 2.3‘ Terminal No. @ :;‘:; 0.1 ¥
: .
6.3
Actuator A %
ONMAALE IR
2TEUE
4-01.1 holes }g
s
©1.25 hole
1 O Y VR
3 N>
N «
N\ ]
N A L
Q N N
X 05| | 23
PC borard 012
. . mounting face
Terminal No.(D Terminal No.(2
Push
2.45
1.61.5
15_ 65 Ju. By
oot LTEME X
RIEHE i)
T ON#RAIE
o — 1.65 1.5
=] Tt 7T/
s 0 w0 @
11 B | & A e o
o < ;*: =
l ~ ! 2-01.1 holes | < i
’ I = @ %
Terminal No.(D 5 0.1 ‘ 2-pattern 1 [D a -
. 01.2 section
] PCboard /1= 14
N ;5‘!‘ 23| mounting face 3; 0.1 1.5 1.75
5.1 Terminal No. @
6.5
Push A
)1.65 3
STEUE
1.751.5
- ON#AALE f
1.4
/@\ | 4-pattern section ‘ ‘
T ©
12 J - © 2-01.3 holes Il
15 [ ¥
= 3#@3
Terminal No.(D PC board 1
mounting face 01.2
=
3
Terminal No.@ 23|23
3.3 | 33

Rl R SRR ¥




1]
%
By

S S e

38

WINEE

Unit:mm
=% g
(BAAEE)
Push
A
2
6.3 5.36
©| » 5.6 1.75 1.5
S "—*1 1.65
077 ‘ .
~ ﬁ% T
L [ ] v Pt 8
13 — 12~ o b o DN
| @ _ {H—+——) 2-91.1 holes
N0 amEaE -
| 0 W 2-91.2 holes
Terminal No.(D,1.75] ] s nfE 2 | rFr’\(c:)ubrS;rdtace X
536 oo @ N2 _llod 2 RAEE
erminal No. (2) - I
65 5 2-0.8X1.4)777L, 1.65
5.4 2.35
Push
A
4
6.3
56 o 8.5 ! 5.36
1.65 2 s 5.1 0.2 1.5 1.75
B I
&) 5 B o] 10 =
14 ol |12 \ TRRUE | s 2-01.1 holes () & ol
oI55 | 1
2-91.2 holes §
YAy
1 \ ‘ ONFIRATE 1] ] PC board —Eg
15 1 75 \\ 3.2 mounting face BERALE 7
e |8 1.65
, 5.36
Terminal No.(D 5 ———
65 54 235 2-(0.8%1.4) 777l
Terminal No. (2
Actuator A
ON#IIALE
275 525 LfTRUE
3.15
2
PC board 8.86
_ 2-91.2 holl
mounting face 3.25 2 coes
15 A o P
AN
— " T\ 2011 hotes
w0 1" ! -
a j o)
2.55|
Terminal No.2) Terminal No.(D
Actuator A
EfRiE 525 275
98 ON#IE(LE 315
6.3 2
PC board
~ mounting 8'82 >
e face - 2-01.2 holes
@l 5 Am
16 :1 w| @) 0 D
*’FH"‘;’ o _ :
__|os5]

Terminal No.2)

\Terminal No.(1)

ALPS




| —o— I

.9]\31:2 Unit:mm

L ENRlB B Rz A U R E L R
No. is] A
° i 2 (BABRE)
Push B
A 0.7, 5.4 5
4 4.4
7.6 4
6.3 2.85 16 5 _16
51'665 1.751.5
1 ! 1.:4 . ®
— 14 L] Al =
17 E | T Y K = 2
HHT S 3 ,.}r uw;t%g é) | || HET
\/ZLJE: o ‘ : J ~ ] D ;
Terminal No. D \ PC board 10 ' / E_o‘:( 1 5 ® IS Y
0.21 ]2 mounting face wal ] 2-00.7 holes/ | 5.36 \ 3 -
1.75 1.5 . . 2-C0.2 4| 37
T I No. ! ;
3o erminal No. 2 /4-1 \4.8 4-pattern section -
ONFANLE 57 SRR
6.7
Push 3}
A 07, 5.4 IR
3 4.4
76 4
6.3 2.85 16, 5 _16
5.6 ‘_“
1.65 r 15 i 1.75 -
ﬁFH ! Q b E}%
E E] <
18 I N EETI
Terminal No.(1) \ © ‘Jl4 i L L] o
0.21,_| 1.2 PC board &

15 175 | mounting face
+
5.36__| \ Terminal No.(2)

ON#GE

&
06 <
A 2-90.7 holes / 5.36 -
[N 4-pattern section

46 | ETEMNE

2-C0.2

ﬁi '&ﬁ%i}”J 14 Ll 1[;

W=EE (BEATTEE)

SPPB512300, SPPB530601, Hith x
SPPB5A0100 -

@

S S e

@

Bl 7R AR %




| —o— I

FEM FF 2%
FmAR—5%

%51 pEE]==Eic
- SPPWS sscaQ SSCM SPVL SPPB
4
P . . & !
. BE _ ‘ ¢
§ “M bt ~ B~
I i 2 71 " " 1518
. EERZ 17578 RIS 2718 340 2%m
=) w 5 338 5 555 6.3
ﬁiiz)rﬁ;f D , 36 4 6.6 3
0.9 15 1 49
e
" EREESHE — 10°C to +60°C — 40°C to +85°C
R — — — ) )
2] A=
% 3 1/ Two-direction type:
FREREN / R 7 2-positions each side 72 7
5 BAEE (EBEME) 0.1A 30V DC TmA 5V DC 0.1A 30V DC
S/N\EE (FBERE) 100uA 3V DC 50uA 3V DC
T Fwm ]ooé%)?ngi(_:]es 50,000 cycles 5Q max. 50'380”%’;'95
(P8 ey
D A
BATE 100000 cycles 50,000 cycles 50 max 50.000 cycles
( EBPATE ) : }
) EATEfh 8 PR 1Q max. 20 max. 1Q max.
- FE1ERE LA 100MQ min. 100V DC
u
N e E 100V AC for 1 minute
» ‘ Ui iR 3N for Tminute 0.5N for Iminute IN for Tminute 3N for Tminute
g il
1] 1HERE o
% REERRE 10N N 2N 5N 10N
[REJES:E —20°C 96h —40°C 500h
ﬂﬁ;ligéiﬁ M # I B2 85°C 96h 85°C 500h
[
I 1 A2 40°C, 90 to 95%RH 96h 60°C, 90 to 95%RH 500h
Sh{EAH 0.3N max. 0.35N max.
bl 29 31 32 33 34
o 2 ot - 73
(R MTF IR HERZEIR - » » » =« = = o o o o o e e e e e e e e e e e e e e e 74

RTH @ FSRTEATRIIANEE™ R,

' ALPS




WERA XS EEH)

1. I3 R LLAME AR £ TR IT o
2. mENEHFHXA60.1~¢0.209CA (K) HCC (T) #HITNE. FERENEERUE (WHEm) WE, BEE77 X ERMNREH,

3. BRENH

——

WMFFX / IF R

B
300 + A h
— max.
o /\
g \
=) T 7
2 200 \ :
) . )
o- “
I .
(0] Y
F 100 ¢
, i
Room kY Time (s) 5
temperature
Tt
F max. C
l
b
51 (EI7REY) A ('C) 3s max. B (C) C (s) D (C) E (C) F (s)
SPPB 40 o
250 #
SPPW8 35 =
SPVE
SPVL
SPVM
SPVN
230 180 150 120
SPVR 260
40
SPVS
SPVT
SSCM B
x
ssca Eal
SPVQC, SPVQE 250
1. BR%&4, AENRIBERNSTREREMVEE, REBBEERNVER, XN EES, BEREENAXEREEESETRANAE,
XTFAXRERE, HIEE LRREANER,
2. RIBNEEIEENFRE, FERRERAE, EEEZMETHINZEER,
BFIEEARNSELS W2EARNSEZA
A ) &ATF For PC board 72
= IEEERE | (RiERE = =
Iﬁ g J\E /EE
SPVS, SPVN, SSPVT, SPVM, SPVR, TREE |TARERE| BERE |RERRNE
SPVE, SPPW8, SSCQ, SSCM, SPVL 350+£5C | 3smax.
J J 2 ’ d SSCT, SPVQ1, SPVQ3,
ST s, e SPVQ6, SPVQ7, SPVQS, | 100£10C | 60smax | 26045C | 51s
SPVQ9, SPVQA
SPVQ1, SPVQ3, SPVQ6, SPVQ7, 300£10C | 341/0s
SPVQ8, SPVQY, SSCN, SPVQA SPPW8, SPPB 100 Cmax. | 60smax. | 255¢5C | 5=ls
SPPB (Reflow) 350+5°C 5s max. SSCF _ 260£5C 5+1s
SSCF, SPPB (For Lead, Dip) 350+10°C 3+1/0s
PO/ 2 HR 3




X-ON Electronics

Largest Supplier of Electrical and Electronic Components

Click to view similar products for Basic/ Snap Action Switches category:
Click to view products by ALPS manufacturer:

Other Similar products are found below :

5SM901-S12 5SM9-S12N195 602ENS32 602EN535-RB 602HES-RB1 604HE162 604HE223-6B 624HE17-RB 6HM82 6HM89 6SE1
6SX1-H58 70500216 70599106 71051 MBH2731 79211923 79218589 7AS12 MIL30126AB6BBMD4A12XAU ML-1155 ML-1376
831010C3.0 831090C2.EL 83131904 84212012 8AS239 8HM73-3 8SX26-H33 914CE1-6G PL-100 11SM1077-H4 11SM1077-H58
11SM1-TN107 11SM405 11SM8423-H2 11SX37-T 11SX48-H58 11SM2442-T 11SM76-T 11SM77-H58 11SM863-T 11SM866 A7CN-
IM-1-LEFT A8317/00C7.0 121EN188-R 1245.0120 125EN56-RB D433V3RD 1267.0101



https://www.xonelec.com/category/electromechanical/switches/basic-snap-action-switches
https://www.xonelec.com/manufacturer/alps
https://www.xonelec.com/mpn/honeywell/5sm901s12
https://www.xonelec.com/mpn/honeywell/5sm9s12n195
https://www.xonelec.com/mpn/honeywell/602en532
https://www.xonelec.com/mpn/honeywell/602en535rb
https://www.xonelec.com/mpn/honeywell/602he5rb1
https://www.xonelec.com/mpn/honeywell/604he162
https://www.xonelec.com/mpn/honeywell/604he2236b
https://www.xonelec.com/mpn/honeywell/624he17rb
https://www.xonelec.com/mpn/honeywell/6hm82
https://www.xonelec.com/mpn/honeywell/6hm89
https://www.xonelec.com/mpn/honeywell/6se1
https://www.xonelec.com/mpn/honeywell/6sx1h58
https://www.xonelec.com/mpn/crouzet/70500216
https://www.xonelec.com/mpn/crouzet/70599106
https://www.xonelec.com/mpn/ck/71051
https://www.xonelec.com/mpn/honeywell/mbh2731
https://www.xonelec.com/mpn/crouzet/79211923
https://www.xonelec.com/mpn/crouzet/79218589
https://www.xonelec.com/mpn/honeywell/7as12
https://www.xonelec.com/mpn/ck/mil30126ab6bbmd4a12xau
https://www.xonelec.com/mpn/honeywell/ml1155
https://www.xonelec.com/mpn/honeywell/ml1376
https://www.xonelec.com/mpn/crouzet/831010c30
https://www.xonelec.com/mpn/crouzet/831090c2el
https://www.xonelec.com/mpn/crouzet/83131904
https://www.xonelec.com/mpn/crouzet/84212012
https://www.xonelec.com/mpn/honeywell/8as239
https://www.xonelec.com/mpn/honeywell/8hm733
https://www.xonelec.com/mpn/honeywell/8sx26h33
https://www.xonelec.com/mpn/honeywell/914ce16g
https://www.xonelec.com/mpn/honeywell/pl100
https://www.xonelec.com/mpn/honeywell/11sm1077h4
https://www.xonelec.com/mpn/honeywell/11sm1077h58
https://www.xonelec.com/mpn/honeywell/11sm1tn107
https://www.xonelec.com/mpn/honeywell/11sm405
https://www.xonelec.com/mpn/honeywell/11sm8423h2
https://www.xonelec.com/mpn/honeywell/11sx37t
https://www.xonelec.com/mpn/honeywell/11sx48h58
https://www.xonelec.com/mpn/honeywell/11sm2442t
https://www.xonelec.com/mpn/honeywell/11sm76t
https://www.xonelec.com/mpn/honeywell/11sm77h58
https://www.xonelec.com/mpn/honeywell/11sm863t
https://www.xonelec.com/mpn/honeywell/11sm866
https://www.xonelec.com/mpn/omron/a7cn1m1left
https://www.xonelec.com/mpn/omron/a7cn1m1left
https://www.xonelec.com/mpn/crouzet/a831700c70
https://www.xonelec.com/mpn/honeywell/121en188r
https://www.xonelec.com/mpn/marquardt/12450120
https://www.xonelec.com/mpn/honeywell/125en56rb
https://www.xonelec.com/mpn/zfcherry/d433v3rd
https://www.xonelec.com/mpn/marquardt/12670101

